

235 IAH 86119806

235-86119806



Shipper's Name and Address COOPER 16250 PORT NORTHWEST DR HOUSTON TX 77041 US TE +17133541900		Shipper's Account Number	Not Negotiable Air Waybill Issued by TURKISH AIRLINES INC ATATURK HAVALIMANI B KAPISI KGBT BINASI, ISTANBUL, 34149, T RKIYE	
Consignee's Name and Address AL-USOOL ENGINEERING SERVICES COMPANY AND TRADING AGENCIES IRAQ ,ERBIL , 100-METER STREET NEAR FAMILY MALL OC : ADNAN HAKEEM ERBIL 44001 IQ TE 964-(0)7504679606 +964-(0)7730679606		Consignee's Account Number	Copies 1, 2 and 3 of this Air Waybill are originals and have the same validity. It is agreed that the goods described herein are accepted in apparent good order and condition (except as noted) for carriage SUBJECT TO THE CONDITIONS OF CONTRACT ON THE REVERSE HEREOF. ALL GOODS MAY BE CARRIED BY ANY OTHER MEANS INCLUDING ROAD OR ANY OTHER CARRIER UNLESS SPECIFIC CONTRARY INSTRUCTIONS ARE GIVEN HEREON BY THE SHIPPER, AND SHIPPER AGREES THAT THE SHIPMENT MAY BE CARRIED VIA INTERMEDIATE STOPPING PLACES WHICH THE CARRIER DEEMS APPROPRIATE. THE SHIPPER'S ATTENTION IS DRAWN TO THE NOTICE CONCERNING CARRIER'S LIMITATION OF LIABILITY. Shipper may increase such limitation of liability by declaring a higher value for carriage and paying a supplemental charge if required.	
Issuing Carrier's Agent Name and City NTG AIR AND OCEAN, LLC CRESTVIEW HILLS, KY 41017		Accounting Information SNTG25058110		
Agent's IATA Code 01-1 9979/0071	Account No.			
Airport of Departure (Addr. of First Carrier) and Requested Routing HOUSTON		Reference Number CUS25045086	Optional Shipping Information	
To IST	By First Carrier TK	To EBL	by TK	to by
Currency USD		CHGS PP	WT/VAL X	Other PPD COLL X PPD COLL
Declared Value for Carriage NVD		Declared Value for Customs NCV		
Airport of Destination ERBIL INTERNATIONAL A		Requested Flight/Date TK0034/31	Amount of insurance XXX	INSURANCE - If Carrier offers Insurance, and such Insurance is requested in accordance with the conditions thereof, indicate amount to be insured in figures in box marked "amount of insurance"
Handling Information NOTIFY PARTY PIPE LINE COMPANY. GAZNA ROD MR. HASSAN YUOSIF 07507777979.				
AES: X20250729827892 SCI				
No. Of Pieces RCP	Gross Weight kg lb	Rate Class Commodity Item No.	Chargeable Weight	Rate Charge
9	1757.000	K Q	1757.0	8.00
				Total 14056.00
Nature and Quantity of Goods (incl. Dimensions or Volume) WATER PUMP SPARE PARTS HS Code: 902680 DIMS 48x42x36 IN x 1 DIMS 42x42x36 IN x 2 DIMS 50x18x16 IN x 2 DIMS 48x42x42 IN x 2 DIMS 32x32x19 IN x 1 DIMS 13x13x7 IN x 1 VOL 6.859 M3				
9	1757.000			14056.00
Prepaid 14056.00		Weight Charge	Collect	Other Charges
		Valuation Charge		
		Tax		
Total Other Charges Due Agent		Shipper certifies that the particulars on the face hereof are correct and that insofar as any part of the consignment contains dangerous goods, such part is properly described by name and is in proper condition for carriage by air according to the applicable Dangerous Goods Regulations.		
Total Other Charges Due Carrier				
Total Prepaid 14056.00		Total Collect		
Currency Conversion Rates		CC. Charges in Dest. Currency	29-Jul-25	CRESTVIEW HILLS
			Executed on (date)	at (place)
For Carrier's use only at Destination		Charges at Destination	Total Collect Charges	
Signature of Shipper or his Agent <i>Isabella Riggi</i> ISABELLA RIGGI				
Signature of Issuing Carrier or its Agent 235-86119806				

Original 2 - (for Consignee)

SHIP FROM Cooper Machinery Services LLC HOUSTON - 16250 PORT NW DRIVE 16250 PORT NW DRIVE HOUSTON TX 77041-2667 USA	INVOICE NO.	DATE		
	180662684	07/07/2025		
	PURCHASE ORDER NO.	B/L, AWB No.		
	PO/24/00756			
SHIP TO Al-Usool Engineering Services Company an trading agencies Ltd 100m Street, Italian Village 1 Building No. 27A, Erbil, Kurdistan Regio O ERBIL IRAQ	SALES ORDER	DELIVERY#		
	200078378	131009194		
SOLD TO Al-USOOL ENGINEERING SERVICES COMPANY and Trading Agencies PO Box 28026 O AL- MA'AMON IRAQ	END USER NAME	FREIGHT TERMS		
	END LOCATION RECIP	EXW HOUSTON TX USA		
SOLD FROM Cooper Machinery Services LLC Houston Sales Office HOUSTON TX 77041 USA	FORWARDING AGENT			
	REMARKS			
	INSIDE SALESPERSON	TELEPHONE		
	Gulzhaina Kurpebayeva			
	TERMS OF PAYMENT			
	Pay Immediately			
ITEM	DESCRIPTION OF MERCHANDISE	QUANTITY	UNIT PRICE	VALUE IN USD
10	Z903-118-036 RING COMPN HS Code : 8414.90.4190 Country of Origin : US <u>NLR</u>	45 EA	276.35	12,435.75
20	Z917-559 RING PACKING HS Code : 8414.90.4190 Country of Origin : US <u>NLR</u>	10 EA	783.22	7,832.20
30	Z600-373-017 RING-PACKING 'AL' TYPE 2-1/4" ROD HS Code : 8414.90.4190 Country of Origin : US <u>NLR</u>	6 EA	1,232.51	7,395.06
40	Z625-181-003 ROD COMPR PSTN HS Code : 8414.90.4190 Country of Origin : US <u>NLR</u>	4 EA	15,852.57	63,410.28

COMMERCIAL INVOICE

PAGE 2 OF 5

ITEM	DESCRIPTION OF MERCHANDISE	QUANTITY	UNIT PRICE	VALUE IN USD
50	Z625-269-001 LINER COMPRESSOR HS Code : 8414.90.4190 Country of Origin : US NLR	4 EA	11,969.63	47,878.52
60	Z625-076-001 PISTON COMPRESSOR HS Code : 8414.90.4190 Country of Origin : US NLR	6 EA	3,295.55	19,773.30
70	Z625-076-002 PISTON COMPRESSOR HS Code : 8414.90.4190 Country of Origin : US NLR	6 EA	3,269.09	19,614.54
80	Z904-573-001 SHOE CROSSHEAD HS Code : 8414.90.4190 Country of Origin : US NLR	1 EA	1,490.77	1,490.77
90	Z620-130-001 PIN CROSSHEAD HS Code : 7318.29.0000 Country of Origin : US NLR	4 EA	719.13	2,876.52
100	Z625-567-002 WASHER HS Code : 7318.22.0000 Country of Origin : US NLR	6 EA	448.83	2,692.98
110	Z625-078-001 CUP PISTON HS Code : 8409.91.9990 Country of Origin : US NLR	6 EA	593.31	3,559.86
120	Z907-152-006 BUSHING COMPR ROD HS Code : 8414.90.4190 Country of Origin : US NLR	8 EA	293.55	2,348.40
130	Z908-822-009 GASKET WIRE HS Code : 8484.90.0000 Country of Origin : US NLR	16 EA	36.21	579.36
140	Z909-981-303 GASKET FLAT RD HS Code : 8484.90.0000 Country of Origin : US NLR	20 EA	26.31	526.20

COMMERCIAL INVOICE

PAGE 3 OF 5

ITEM	DESCRIPTION OF MERCHANDISE	INVOICE NO.	DATE	
		180662684	07/07/2025	
ITEM	DESCRIPTION OF MERCHANDISE	QUANTITY	UNIT PRICE	VALUE IN USD
150	Z909-981-302 GASKET FLAT RD HS Code : 7326.90.8695 Country of Origin : US <u>NLR</u>	7 EA	34.25	239.75
160	Z900-838-018 SEAL O-RING, 7 I.D. X 1/4 C.S. HS Code : 4016.93.5010 Country of Origin : US <u>NLR</u>	20 EA	17.19	343.80
170	Z909-981-303 GASKET FLAT RD HS Code : 8484.90.0000 Country of Origin : US <u>NLR</u>	20 EA	26.31	526.20
180	Z900-838-018 SEAL O-RING, 7 I.D. X 1/4 C.S. HS Code : 4016.93.5010 Country of Origin : US <u>NLR</u>	20 EA	17.19	343.80
190	Z900-835-086 SEAL O RING (SMALLER GUIDE DOOR) HS Code : 4016.93.5010 Country of Origin : US <u>NLR</u>	20 EA	12.39	247.80
200	Z620-253-001 ELEMENT OIL FILTER The part number ZC20-253-001 is not valid. This is probably Z620-253-001, please check this HS Code : 8421.39.0190 Country of Origin : US <u>NLR</u>	16 EA	147.25	2,356.00
210	Z620-362-001 COOLER - OIL, FRAME Z6002-T08A-004 is BOM and cannot be quoted, you need to order the following part number Z620-362-001 instead HS Code : 8414.90.4190 Country of Origin : US <u>NLR</u>	4 EA	2,278.16	9,112.64
220	Z625-683-609 VALVE ASSY - COMPR. DISCH. (6-1/8") HS Code : 8481.80.9015 Country of Origin : US <u>NLR</u>	32 EA	2,194.12	70,211.84

COMMERCIAL INVOICE

PAGE 4 OF 5

ITEM	DESCRIPTION OF MERCHANDISE	QUANTITY	UNIT PRICE	VALUE IN USD
230	Z625-960-806 VALVE - UNLOADER SUCTION HS Code : 8481.20.0080 Country of Origin : US <u>NLR</u>	16 EA	2,733.18	43,730.88
240	Z625-682-609 VALVE ASSY - COMPR. SUCT. (6-1/8") HS Code : 8481.80.9015 Country of Origin : US <u>NLR</u>	16 EA	2,194.12	35,105.92

LINE TOTAL	354,632.37
MISC. CHARGES (Packing, Freight, etc.)	
INVOICE TOTAL	354,632.37



AUTHORIZED SIGNATURE



DELAWARE

*

COMMERCIAL INVOICE

PAGE 5 OF 5

INVOICE NO.	DATE
180662684	07/07/2025

Packing Details Total Nr. of Packages : 7

Description	Net Weight	Total Weight	Dimension
-------------	------------	--------------	-----------

1 PALLET	950.0LB 430.9KG	950.0LB 430.9KG	48x42x36 IN 122x107x91 CM
1 PALLET	950.0LB 430.9KG	950.0LB 430.9KG	48x42x42 IN 122x107x107CM
1 PALLET	200.0LB 90.7KG	200.0LB 90.7KG	42x42x20 IN 107x107x51 CM
1 PALLET	210.0LB 95.3KG	210.0LB 95.3KG	50x18x16 IN 127x46x41 CM
1 PALLET	210.0LB 95.3KG	210.0LB 95.3KG	50x18x16 IN 127x46x41 CM
1 PALLET	220.0LB 99.8KG	220.0LB 99.8KG	48x42x42 IN 122x107x107CM
1 PALLET	220.0LB 99.8KG	220.0LB 99.8KG	48x42x42 IN 122x107x107CM

Total Weight	2,960.0LB	2,960.0LB	OR	1,342.7KG
--------------	-----------	-----------	----	-----------

These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items, without first obtaining approval from the U.S. government or as otherwise authorized by U.S. law and regulations.